#### South Lanarkshire Council

#### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 15 - Blantyre

5,362

1,341

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Maureen CHALMERS	Scottish National Party (SNP)	1,354
Alan Henderson FRASER	Scottish Conservative and Unionist	593
Ashley HUBBARD	Tommy Sheridan - Solidarity - Hope Over Fear	76
Michael MCGLYNN	Scottish National Party (SNP)	797
Gerry MCMAHON	Scottish Socialist Party - Save our services	48
Mo RAZZAQ	Scottish Labour Party	1,663
Stephen REID	Scottish Liberal Democrats	100
Bert THOMSON	Scottish Labour Party	731
	Total	5,362

Candidate Maureen CHALMERS Elected with 1,354 votes, being in excess of the quota of 1,341 Candidate Mo RAZZAQ Elected with 1,663 votes, being in excess of the quota of 1,341

This report contains the transfers results.

Stage 2 - Surplus of Mo RAZZAQ

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Alan Henderson FRASER	41	0.19362	7.93842
Transfer to Ashley HUBBARD	22	0.19362	4.25964
Transfer to Michael MCGLYNN	96	0.19362	18.58752
Transfer to Gerry MCMAHON	18	0.19362	3.48516
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Stephen REID	45	0.19362	8.71290
Transfer to Bert THOMSON	1,286	0.19362	248.99532
Value of non-transferable ballot papers			30.02104
	Total		322.00000

This report contains the transfers results.

Stage 3 - Surplus of Maureen CHALMERS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Alan Henderson FRASER	18	0.00960	0.17280
Transfer to Ashley HUBBARD	39	0.00960	0.37440
Transfer to Michael MCGLYNN	1,156	0.00960	11.09760
Transfer to Gerry MCMAHON	16	0.00960	0.15360
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Stephen REID	13	0.00960	0.12480
Transfer to Bert THOMSON	33	0.00960	0.31680
Value of non-transferable ballot papers			0.76000
	Total		13.00000

This report contains the transfers results.

Stage 4 - Exclusion of Gerry MCMAHON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Alan Henderson FRASER	1	0.19362	0.19362
Transfer to Alan Henderson FRASER	2	1.00000	2.00000
Transfer to Ashley HUBBARD	3	0.00960	0.02880
Transfer to Ashley HUBBARD	5	0.19362	0.96810
Transfer to Ashley HUBBARD	19	1.00000	19.00000
Transfer to Michael MCGLYNN	3	0.00960	0.02880
Transfer to Michael MCGLYNN	5	0.19362	0.96810
Transfer to Michael MCGLYNN	10	1.00000	10.00000
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Stephen REID	2	0.00960	0.01920
Transfer to Stephen REID	3	0.19362	0.58086
Transfer to Stephen REID	3	1.00000	3.00000
Transfer to Bert THOMSON	1	0.00960	0.00960
Transfer to Bert THOMSON	1	0.19362	0.19362
Transfer to Bert THOMSON	7	1.00000	7.00000
Value of non-transferable ballot papers			7.64806
	Total		51.63876

This report contains the transfers results.

Stage 5 - Exclusion of Ashley HUBBARD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Alan Henderson FRASER	1	0.00960	0.00960
Transfer to Alan Henderson FRASER	6	0.19362	1.16172
Transfer to Alan Henderson FRASER	3	1.00000	3.00000
Transfer to Michael MCGLYNN	21	0.00960	0.20160
Transfer to Michael MCGLYNN	22	1.00000	22.00000
Transfer to Gerry MCMAHON	0	0.00000	0.00000
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Stephen REID	5	0.00960	0.04800
Transfer to Stephen REID	1	0.19362	0.19362
Transfer to Stephen REID	12	1.00000	12.00000
Transfer to Bert THOMSON	1	0.00960	0.00960
Transfer to Bert THOMSON	9	0.19362	1.74258
Transfer to Bert THOMSON	24	1.00000	24.00000
Value of non-transferable ballot papers			36.26422
	Total		100.63094

This report contains the transfers results.

Stage 6 - Exclusion of Stephen REID

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Alan Henderson FRASER	2	0.19362	0.38724
Transfer to Alan Henderson FRASER	27	1.00000	27.00000
Transfer to Ashley HUBBARD	0	0.00000	0.00000
Transfer to Michael MCGLYNN	10	0.00960	0.09600
Transfer to Michael MCGLYNN	6	0.19362	1.16172
Transfer to Michael MCGLYNN	18	1.00000	18.00000
Transfer to Gerry MCMAHON	0	0.00000	0.00000
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Bert THOMSON	2	0.00960	0.01920
Transfer to Bert THOMSON	32	0.19362	6.19584
Transfer to Bert THOMSON	32	1.00000	32.00000
Value of non-transferable ballot papers			39.81938
	Total		124.67938

This report contains the transfers results.

Stage 7 - Exclusion of Alan Henderson FRASER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Ashley HUBBARD	0	0.00000	0.00000
Transfer to Michael MCGLYNN	8	0.00960	0.07680
Transfer to Michael MCGLYNN	4	0.19362	0.77448
Transfer to Michael MCGLYNN	22	1.00000	22.00000
Transfer to Gerry MCMAHON	0	0.00000	0.00000
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Stephen REID	0	0.00000	0.00000
Transfer to Bert THOMSON	3	0.00960	0.02880
Transfer to Bert THOMSON	20	0.19362	3.87240
Transfer to Bert THOMSON	223	1.00000	223.00000
Value of non-transferable ballot papers			385.11092
	Total		634.86340

This report contains the transfers results.

Stage 8 - Exclusion of Michael MCGLYNN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen CHALMERS	0	0.00000	0.00000
Transfer to Alan Henderson FRASER	0	0.00000	0.00000
Transfer to Ashley HUBBARD	0	0.00000	0.00000
Transfer to Gerry MCMAHON	0	0.00000	0.00000
Transfer to Mo RAZZAQ	0	0.00000	0.00000
Transfer to Stephen REID	0	0.00000	0.00000
Transfer to Bert THOMSON	341	0.00960	3.27360
Transfer to Bert THOMSON	55	0.19362	10.64910
Transfer to Bert THOMSON	261	1.00000	261.00000
Value of non-transferable ballot papers			627.06992
	Total		901.99262